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Notes (this must be a proof by contradiction)

B1: For using correct language and notation to set up the contradiction

M1: Recognises the requirement to multiply though by x and collects terms to one side
M1: Uses appropriate algebra to progress to the contradiction

Al: Full and rigorous argument using fully correct algebra with a conclusion

ALT

B1: For using correct language and notation to set up the contradiction

M1: Recognises the requirement to squares both sides and collects terms to one side
M1: Uses appropriate algebra to progress to the contradiction

A1l: Full and rigorous argument using fully correct algebra with a conclusion




